

# CRYPTO MINING PROPOSAL

Prepared By:

Andre Skinner

Client:

Investor

Date of Issue:

March 31, 2022

#### MINING HARDWARE PRICING – PACK #1:

5 X AvalonMiner 1246 85TH/s - \$8,890.00 each new \$44,450.00

5X \$80 PDU power distribution units - \$400.00

1X Switch - managed - 48 x 10/100/1000 + network rack - \$205

5X ethernet cables (10 & 50 foot) \$10 each average \$50

1X ASUS X509 15.6" Laptop - Slate Grey (Intel Pentium Silver N5030/256GB SSD/8GB RAM/Windows 10) \$470.00

X3 Metal Shelving for AvalonMiner - Commercial 82"x48"x18" 6 Tier Layer Shelf Adjustable Wire Metal Shelving Rack 76 - \$87.99 each - \$270.00

X1 networking rack - Tripp Lite 8U/12U/22U Expandable Wall-Mount 2-Post Open Frame Rack, Adjustable Network Equipment Rack, Switch Depth, 18" Deep (SRWO8U22) \$110

X1 iLIVING ILG8P30-72 Commercial Pedestal Floor Fans, 30" - \$300.00

Mac Pro Tower (emergency backup system) supplied by OWT \$0

Warehouse rental space TBD

SUBTOTAL: \$46,255.00

Applicable Taxes on Hardware: \$5,753.00

TOTAL: \$52,008.00

Estimated Current Bitcoin Value 46K USD

Daily: \$170.00

Monthly: \$5,270.00 Yearly: \$62,050.00

#### MINING HARDWARE PRICING – PACK #2

15 X AvalonMiner 1246 85TH/s - \$8,890.00 each new \$133,350.00

15X \$80 PDU power distribution units - \$1,200.00

1X Switch - managed - 48 x 10/100/1000 + network rack - \$205

15X ethernet cables (10 & 50 foot) \$10 each average \$150

1X ASUS X509 15.6" Laptop - Slate Grey (Intel Pentium Silver N5030/256GB SSD/8GB RAM/Windows 10) \$470.00

X3 Metal Shelving for AvalonMiner - Commercial 82"x48"x18" 6 Tier Layer Shelf Adjustable Wire Metal Shelving Rack 76 - \$87.99 each - \$270.00

X1 networking rack - Tripp Lite 8U/12U/22U Expandable Wall-Mount 2-Post Open Frame Rack, Adjustable Network Equipment Rack, Switch Depth, 18" Deep (SRWO8U22) \$110

X2 iLIVING ILG8P30-72 Commercial Pedestal Floor Fans. 30" - \$600.00

Mac Pro Tower (emergency backup system) supplied by OWT \$0

Warehouse rental space TBD

SUBTOTAL: \$136,205.00

Applicable Taxes on Hardware: \$17,706.65

TOTAL: \$153,911.00

Estimated Current Bitcoin Value 46K USD

Daily: \$510.00

Monthly: \$15,810.00 Yearly: \$189,720.00

## MINING HARDWARE PRICING - PACK #3

30 X AvalonMiner 1246 85TH/s - \$8,890.00 each new \$266,700.00

30X \$80 PDU power distribution units - \$2,400.00

1X Switch - managed - 48 x 10/100/1000 + network rack - \$205

30X ethernet cables (10 & 50 foot) \$10 each average \$300.00

1X ASUS X509 15.6" Laptop - Slate Grey (Intel Pentium Silver N5030/256GB SSD/8GB RAM/Windows 10) \$470.00

X3 Metal Shelving for AvalonMiner - Commercial 82"x48"x18" 6 Tier Layer Shelf Adjustable Wire Metal Shelving Rack 76 - \$87.99 each - \$270.00

X1 networking rack - Tripp Lite 8U/12U/22U Expandable Wall-Mount 2-Post Open Frame Rack, Adjustable Network Equipment Rack, Switch Depth, 18" Deep (SRWO8U22) \$110

X2 iLIVING ILG8P30-72 Commercial Pedestal Floor Fans, 30" - \$300.00

Mac Pro Tower (emergency backup system) supplied by OWT \$0

Warehouse rental space TBD

SUBTOTAL: \$270,755.00

Applicable Taxes on Hardware: \$35,198.00

TOTAL: \$305,953.15

Estimated Current Bitcoin Value 46K USD

Daily: \$1,020.00 Monthly: \$31,620.00 Yearly: \$372,300.00

## MINING HARDWARE PRICING - PACK #4

50 X AvalonMiner 1246 85TH/s - \$8,890.00 each new \$444,500.00

50X \$80 PDU power distribution units - \$4,000.00

2X Switch - managed - 48 x 10/100/1000 + network rack - \$410.00

50X ethernet cables (10 & 50 foot) \$10 each average \$500.00

1X ASUS X509 15.6" Laptop - Slate Grey (Intel Pentium Silver N5030/256GB SSD/8GB RAM/Windows 10) \$470.00

X4 Metal Shelving for AvalonMiner - Commercial 82"x48"x18" 6 Tier Layer Shelf Adjustable Wire Metal Shelving Rack 76 - \$87.99 each - \$351.00

X2 networking rack - Tripp Lite 8U/12U/22U Expandable Wall-Mount 2-Post Open Frame Rack, Adjustable Network Equipment Rack, Switch Depth, 18" Deep (SRWO8U22) \$220.00

X4 iLIVING ILG8P30-72 Commercial Pedestal Floor Fans, 30" - \$600.00

Mac Pro Tower (emergency backup system) supplied by OWT \$0

Warehouse rental space TBD

SUBTOTAL: \$451,051.00

Applicable Taxes on Hardware: \$58,636.63

TOTAL: \$509,687.63

Estimated Current Bitcoin Value 46K USD

Daily: \$1,700.00 Monthly: \$52,700.00 Yearly: \$630,500.00

### MINING HARDWARE PRICING - PACK #5

100 X AvalonMiner 1246 85TH/s - \$8,890.00 each new \$889,000.00

100X \$80 PDU power distribution units - \$8,000.00

8X Switch - managed - 48 x 10/100/1000 + network rack - \$410.00

100X ethernet cables (10 & 50 foot) \$10 each average \$1000.00

1X ASUS X509 15.6" Laptop - Slate Grey (Intel Pentium Silver N5030/256GB SSD/8GB RAM/Windows 10) \$470.00

X10 Metal Shelving for AvalonMiner - Commercial 82"x48"x18" 6 Tier Layer Shelf Adjustable Wire Metal Shelving Rack 76 - \$87.99 each - \$879.90

X6 networking rack - Tripp Lite 8U/12U/22U Expandable Wall-Mount 2-Post Open Frame Rack, Adjustable Network Equipment Rack, Switch Depth, 18" Deep (SRWO8U22) \$660.00

X8 iLIVING ILG8P30-72 Commercial Pedestal Floor Fans, 30" - \$2,400.00

Mac Pro Tower (emergency backup system) supplied by OWT \$0

Warehouse rental space TBD

SUBTOTAL: \$902,819.00

Applicable Taxes on Hardware: \$117,366.47

TOTAL: \$1,020,185.47

Estimated Current Bitcoin Value 46K USD

Daily: \$3,400.00

Monthly: \$105,400.00 Yearly: \$1,241,000.00